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Test One

Part 1 Listening Comprehension (20 minutes)

Section A

Direciions: In this section, you will hear 10 short conversations. At the
end of éach conversation, a question will be asked about what
was said.The conversation and the question will be spoken. only
ONCE. After cach question there will be a pause. During the
pausc, you must read the four choices marked A), B), C) and D),
and decide which is the best answer. Then mark the corre
sponding letter on the Answer Sheet with a single line through the
centre.

Example: You will hear:

7 “You will read:  A) At the office. ~ B) In the waiting room
C) At the airport. D) In a restaurant.
Sample Answer . [A] [B] [C] [D)

From the conversation we know that the two were talking
about some work they have ;o finish M the evening. This is most
likely to have taken pla‘ce at the office. Therefore, A)“At the of-
fice™is the best answer. You should choose gnswer [A] on the An-
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swer Shect and mark it with a single line through the centre.

. A) She's tired of teaching.
B) She was dismissed from her job .
C) She’s changing jobs.
D) The school is far away from her home.
. A) They were extremely displeased.
_B) They found it extremely sad.
C) They thought it was shocking, but very funny.
D) They became angry at the disorder.

. A) Playing the piano. B) Making a photocopy.
C) Typing. D) Taking a picture.

. A) He was very brave.
B) He’s a guide in the forest.
C) He heated the medal.

D) He’s quite proud of his medal.
. A) Getting another ticket at the door.
B) Canceling the concert.
C) Exchanging the tiqket for a better one.
D) Trying to scll the’ticket.
. A) Leavein 30 minutes.
B) Mcet Harry at the station.
C) Get to the station quickly.
D) Check to see if everything is ready.
. A) The nois¢ in the library. - B) The heat inside.
C) The late hour. D) The crowded room.
. A) A speech on television.
—_2 —



B) An article in the newspaper.
C) A meeting with the President.
.D) A telephone conversation.

9. A)Bring some food to the table.
B) Help yourself to some food.
C) Use the phone on the table.
D) Help yourself to the cigarettes.

10. A)The third floor sells women’s dresses.

B) The third floor also sells men’s clothes.
C) The third ﬂ;)or may have smaller sizes.
D) The third foor sells underwear.

Section B

Directions: In this section, you will hear 3 short passages. At the end of
each passage, you will hear some quéstions. Both the passage and
the questions will be spoken only once. After you hear a question,
you must choose the best answer from the four choices marked A),
B), C) and D). Then mark the corrcsponding letter on the Answer
Shecet with a single line through the centre,

Passage One
Questions 11 1o 14 are based on the passage you have just heard:
11. A)9 months old. ' B) 19 months old.
C) 90 days old. D) 9 years old.
12. A) An impaticnt, understanding and clever lady.
B) A paticnt, understanding and foolish lady.
C) A forbearing, understanding and intclligent lady.



D) An ill-tempered, undcrstanding and diligent lady.
13. A) A school for the deaf. B) A school for the blind.
C) A primary school. D) A dancing school.
14. A) By speaking English.
B) By speaking French.
C) By spcaking German.
D) By tapping and touching cach other’s fingers.

Passage Two
Questions 15 to 17 are based on the passage you have just heard:
15. A) Mr Hodges cdited his own newspaper.
- B) Somconc telcphonced that there had been a big flood.
C) Pcoplc who had been in the flood were angry that Mr Hodges
. had writtcn about it. .
D) There had not really been a flood at all.
16. A) People who survived the flood called him about the flood.
B) Pcople who lived in the village of Greenbridge called him about
it.
C) Some other newspaper reported that it was quite falsg that the
village of Greenbridge had been destroyed by a flood.
D) Mr Hodges himsclf madc obscrvations in the village.
17. A) Very sorry to say. B) Very sad to say.
C) Very angry to say. D) Very proud to say.

Passage Three
Questions 18 10 20 are based on 1he passage you have just heard:

18. A) An American. B) An Englishman.
— 4 —



C) A Frenchman. D) A Chincse.
19. A)Less than a month. B) For months or ¢ven years.
C) Three weeks. D) Ten days.
20. A) Because somctimes they are so busy that thcy have no time to
cook dishes. '
B) Because they often go travelling.
C) Because canned food can be heated.

D) Because they think canned food is much cheaper.

Part 11 Reading Comprehension (35 minutes)

Directions: There are 4 passages in this part. Each passagc is followed
by some questions or unfinished statements. For each of them
there are four choices marked A),B),C) and D). You should
choose the ONE bcest answer and mark the corresponding lctter
on the Answer Sheet with a single line through the centre.

Questions 21 1o 25 are based on the following passage:

It is 20th. This day on board the Pcacock we v!i,mm.a_m_ﬁgm
between a !hai and one of its many cnemies. The sca was quite
- smooth and offered the best possible yiggr_ of the whole battle. First, at
a distance from the ship, a whalc was scen floundering (##40) in a most
extraordinary way, trying, apparently, to gct free from some annoy-
ance. As he a&achcf the ship, the struggle continuing and becoming
more violent, it was perceived that a fish, apparcatly about twenty fect
long, held him by the jaw — his floundering body indicating the great
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pain of the huge monster. The whale now threw himself at full length
from the water with open mouth, his encmy still hanging to the jaw, the
blood issuing from the wound and dyeing the sca to a distance around.
But all his flounderings were of no use; his cruel enemy still maintained
his hold and was evidently getting the advantage of him.

“These killers,” as they are called, are of a brownish color on the
back and white on the belly. The “killers” attack a whale in the same
way as dogs bait a bull and worry him to decath. They are armed with

strong, sharp teeth and gencrally scize the whale by the lower jaw.

21. The battle was observed from L
A) 3 long—boat B) a helicopter
C) {he deck of a ship D) a submarine
22. During the battle, the whale was attempting to L
A) kill his attacker
B) attract others which would help him
Q) release himself from the “killer’s” hold
D) dive into the depths
23. The “killers”
A) have brown backs B) have white bellics
C) arc green and white : « D) both A) and B)
24. The “killer”
:AYwas persistent in hisattack
B) was bigger than the whale
C) could swim better and faster than the whale -
Dﬂhad a poisonous bite
25. Itis implied, but not stated, that L
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A) )he “killers” attack whalcs as dogs bait a bull
B) whales are Kkings of the sea
C) size in itself is not always the determining factor in a battle

D) persistence doesn’t pay

Questions 26 10 30 are based on the followir_rg passage:

One phasc of the business cycle is the expansion phase. This phase
is a two— fold one, including recovery and prosperity. During the re-
covery period there is ever—growing cxpansion of existing facilities, and
new facilities for production are created. More businesses are created
and older ones expanded. Improvements of various kinds are»made.
There is ag cver—increasing optimism about the future of economic
growth. Much capital is invested in machinery or “heavy” industry.
More labor is employed. More raw materials arc required. As one part
of the economy develops, other ﬁarts arc affected. For example, a great
cxpansion in automobiles results in an cxpansion of the steel, glass, and
rubber industries. Roads are required; thus the cement and machinery
industries are stimulated. Demand for labor and materials results in
greater prosperity for workers and supplics of raw materials, including
farmers. This incrcases pufchasing power ‘and the volume of goods
bought and sold. Thus prosperity is diffuscd (§*#) among the various
portions of the population. This prosperity period may continue to rise
and rise without an apparcnt end. However, a time comes when this
phas¢ reaches a peak and stops spiraling upwards. This is the end of
the expanston phase.

26. The title below that best cxpresses the main idea of -this passage is
’ —_- 7. —



A) The Busincss Cycle B) The Recovery Stage

C) An Expanding Socicty D) The Period of Good Times
. Prosperity in onc industry L

A) reflects itsclf in many other industries

B) will affect the steel industry

C) will end abruptly

D) will help all portions of socicty except the farmers
- Which of the following industrics will probably be a good indica-

tor of a period of ¢xpansion?

A) Toys B) Machinc tools
C) Foodstuffs D) Farming
. In the fourth scntence, “oncs” refers to L
A) facilitics _ B) busincsses
C) improvements D) factorics

. We may assumec that in the next paragraph the writer will discuss

A) prospcrity in agriculturc
B) the peak period
C) the higher cost of living

D) anether phase of the business cycle

Questions 31 1o 35 are based on the following passage:

‘For -ncarly a century before there was such a ‘thing as a space

program, a view of spacc was possible. Pcople could see detailed views

of the Moon, explore Mars, and study the gcometric beauty of Saturn’s

rings. Al of this'was made possible by a small group of artist—astron-
-— 8 ——



omers who made a carcer of illustrating how other worlds in space
might look.

Lucien Rudaux, a French artist, was the first to combine his artis-
tic talents with his knowlcdge of astronomy. His paintings show a mix-
turce of skilled obscrvations, brilliant imagination, and painstaking (&%
#475(~f) attention to detail. As a result, many of his works have come
surprisingly close to actual conditions on distant planets. His painting
of Mars included moonlike cratcr.s(k;t) that were first photographed by
the Marincr 4 probe (KT 4 5% M) in 1965. His 1930 painting of
a dust storm looks remarkably likc a photograph of storm taken by
Orbit 2 (2 B HYLE €i788) in 1976.

The artist—astronomcrs, including Rudaux, stimulated interest in
outer space by painting what cventually turned out to be precise por-
traits of the plancts.

31. What is the main idea of the passage ? B
A)/‘l‘hp amazing accuracy of space artists
B) The popular success of Lucien Rudaux _
C)The imaginations of great artists
D) The similaritics of thc Moon to Mars

32. According to the passage, artist—~astronomers spent their lives

A) exploring the planets
.. B) studying geometry
. ‘Y.C) reating images of space
D) produ::ing rockets for space travel :
33. According to the passage, the works of Lucicn Rudaux represent a
— 9 —



combinationof
A) astronomy and mathematics
B) gencralizations and specifics
C\)j)hotogmphy and illustration
D) fact and fiction
34. According to the passage, what did the space probes do? L
A) They created abnormal conditions on the planets
B) They confirmed the space artists’ works
Cj’l‘hey produced new occupations for artists
D) They promoted interest in outer space
35. According to thc passage, what did Mariner 4 photograph?
A) A space probe B) The planet Mars
Qeratcrs on the Moon D) Lucicn Rudaux’s paintings

Questions 36 to 40 are based on the following passage:

Stress may be defined as the response of the body to any demand.
Whenever people experience something pleasant or unpleasant, we say
they are under stress. We call the plcasan.t kind * eustress” , the
unpleasant kind “distress”.

People sometimes compare their lives with those of the cave men,
who didn’t have to worry about the stock market or the atomic bomb.
They forget that the cave men worried about being caten by a bear or
about dying of hunger — things that few people worry about today.
It’s not that people suffer more stress today; it’s just that they think
they do.

It is inconccivable that anyone should have no stress at all. Most
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